Cs609 Question

Marks: 1

DMA stands for,

Select the correct option

o

Distinct Memory Access

O

Direct Module Access

Direct Memory Access

CORRECT ANSWER SOLVED BY HADI
CELL NO : +923228043306
EMAIL : usmanraj20@=mail.com =

Direct Memory Allocation

MADE BY HADI




Cs609 Question

Marks: 1

TART stands for

Select the correct option

o

Universal Adjustment and Realigning Tool

O

Universal Asynchronous Receiver Transmitter

CORRECT ANSWER SOLVED BY HADI
CELL NO : 923228043306
EMAIL : usmanraj20Zgmail.com

Unconventional Assisted Recovery Team

None of these

MADE BY HADI




Cs609 Question

Marks: 1

DTEis

Select the correct option

o

Data transmitting equipment

O

Dual terminal equipment

Data terminal equipment

CORRECT ANSWER SOLVED BY HADI
CELL NO : +923228043306
EMAIL : usmanraj20@=mail.com =

None of the given

MADE BY HADI




Cs609 Question Marks: 1
Interrupt Vector Table (IVT) in short is a bytes sized table.
4
Select the correct option
CORRECT ANSWER SOLVED BY HADI
O 1024 CELL NO : <923228043306
EMALL : usmanraj20@gmail.com &
O 2048 4
o 3072 7
O | uss MADE BY HADI




Cs609 Question

Marks: 1

Timer interrupt is a .

Select the correct option

o

CORRECT ANSWER SOLVED BY HADI

Hardware Interrupt %;IﬁN?.,;ﬂgw.ﬂm “
O Software Interrupt y
O Both of these 4
O | sone st s MADE BY HADI




Cs609 Question Marks: 1
Int 14H can be used to set the line parameter of the UART or COM port.
i
Select the correct option
CORRECT ANSWER SOLVED BY HADI
O CELL NO : +923228043306
Service # 0 EMAIL : usmanraj20@gmail.com 4
O Service # 1 .
O Service #2 Fl

None of the given options

MADE BY HADI




Cs609 Question

Marks: 1

is used to identify the cause of mterrupt.

Select the correct option
: CORRECT ANSWER SOLVED BY HADI
Q) || Interrupt ID Register CELL NO : -923228043306 P
EMALL : usmanraj20@gmail.com i
O || PC Register P
O AC Register 4
N of 21 Thse MADE BY HADI




Cs609 Question

Marks: 1

There are

kinds of serial communication.

Select the correct option

O 3

O |s

CORRECT ANSWER SOLVED BY HADI
CELL NO : +923228043306
EMAIL : usmanraj20@=mail.com =

MADE BY HADI




Cs609 Question Marks: 1
is LED control byte.
g
Select the correct option
O | oD y
CORRECT ANSWER SOLVED BY HADI
O CELL NO : =923128043306
0xED EMAIL : usmanraj20@gmail.com ~

MADE BY HADI




Cs609 Question

Marks: 1

Each paragraph in keep function is bytes in size.

Select the correct option

O |+

O |s

CORRECT ANSWER SOLVED BY HADI
CELL NO : +923228043306
EMAIL : usmanraj20@=mail.com =

MADE BY HADI




Cs609 Question Marks: 1

The following command “outportb (0x6Linportb(0x61) | 3); will

Select the correct option

CORRECT ANSWER SOLVED BY HADI

O Turn on the speaker CILL NO : +923228043306 P
EMAIL : usmanraj20@gmail.com ’

O Turn off the speaker 4

O Toggle the speaker

O ||xone of the above MADE BY HADI




Cs609 Question Marks: 1
Hardware Interrupts are
g
Select the correct option
O Preemptive 4
CORRECT ANSWER SOLVED BY HADI
O CELL NO : +9132258043306
Non-Preemptive EMAIL : usmanraj20@email.com 4

Both Preemptive and Non-Preemptive

None of Given

MADE BY HADI




Cs609 Question

Marks: 1

whenever received indicates the start of communication and

whenever received indicates a temporary pause in the commumnication.

Select the correct option

O |[xoN & XOFF

CORRECT ANSWER SOLVED BY HADI
CELL NO : 923228043306 ~
EMAIL : usmanraj20Zgmail.com

O XOFF & XON

O XON & YOFF

YON & XOFF

MADE BY HADI




Cs609 Question Marks: 1

Int 14H can be used to receive a byte.

4

Select the correct option

O Service # 0 P

O Service # 1 ~

CORRECT ANSWER SOLVED BY HADI
Service # 2 CELL NO : +913228043306

EMAIL : usmanraj20@=mail.com =

None of the given options

MADE BY HADI




Cs609 Question

Marks: 1

Software based flow control make use of

control characters

page 135

Select the correct option
O Xon #
O XOFF 4
CORRECT ANSWER SOLVED BY HADI
0 CELL NO : +923228043306
Both EMAILL : usmanraj2@gmail.com =
O | e MADE BY HADI




Cs609 Question

Marks: 1

No. of bytes are used to store the character in the keyboard buffer.

page 54

Select the correct option

O 3

O |:

CORRECT ANSWER SOLVED BY HADI
CELL NO : ~923228043306
EMAIL : usmanraj20@gmail.com

MADE BY HADI




Cs609 Question Marks: 1
Keyboard uses port as status port.
page 177
g
Select the correct option
CORRECT ANSWER SOLVED BY HADI
O 64H CELL NO : 923228043306
FMAIL : usmanraj20@gmail.com 4
O 66H #
O | om .
O | on MADE BY HADI




Cs609 Question

Marks: 1

Operating system name contains bytes in boot block.

Select the correct option

O 3

O 8

CORRECT ANSWER SOLVED BY HADI
CELL NO : =923228043306
EMALL : usmanraj2lgegmail.com

MADE BY HADI






